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1. Given this sign pattern < } > , at what value(s) of
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x does f'has a maximum value?
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3. On which of the following interval(s) is the function y = — ? +31%-5¢
increasing?
2)  x€(-oo, 1] (b)) x€l1,5] ¢)  x€[5,00)
d) x€(—o0, 1JU[5, o0) e)  AllReals

dy = ~L+f -
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4. Suppose f'(x)=(1 —x)wyc —5)3. Of the following, which best
describes the graph of f(x)?

a)  f(x) has relative minimum at x = 1, a relative maximum at x =3, and
neither at x =5

b)  f(x) has relative minimum at x =3, a relative maximum at x =1, and
neither at x =5

¢)  f(x)has relative minimum at x =5, a relative maximum at x = 3, and
neither at x =1

d)  f(x) has relative minimum at x = 1, a relative maximum at x =5, and
neither at x =3 -

“e) ) f(x) has relative minimum at x = 5, a relative maximum at x = 1, and
nelthera“t_x=3 — cto 4 o —
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S. Consider a particle moving such that its position is described by the function
x(t) = 612 —1*. When does the particle attain its maximum velocity?
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a) =0 (b)) t=1 ¢ t=2
"f t=-1 e) t=%|
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y = |2 12 & ,_/i——i———-——“f—"?
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6.  Find the x-value of the absolute maximum of y=x2+x+2on x €[-2, 3]

1 1 iy
a) x=-——T b) x=—_ c) x=-2 X
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7. Given this sign pattern — >, on which interval(s) is
X = teag 1 e

f(x) increasing?

a)y ~ 3<x<1
@) ) =3<x<land x>1
/c{ x<-3

d x>1

e) It cannot be determined from this sign pattern

8. Which of the following equations matches this graph:

e
S ye4
; wj ~e6 ©°
S

| |

@ y= —07(x+2&§3(>ic—4) ‘}aq/ y=-3(x+2)(x-1)(x—4)

¢) y=-.05(x+2)(x— 1)(x—4)? d y=-.02(x+2)(x- 1)(X,.—4)3
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Round to 3 decimal places. Score é__g J
Show all work.

1.  Find the zeros of y=— 2x3 +9x2 + 12x — 54. Show the algebraic support.
Y= —~E(2x9) 6 (2 -9)

g (6-2) (2-9)
(&E.D) [ ‘i/;l(b

2. Find the extreme points of y = —2x>+ 9x2 + 12x — 54. Show the algebraic
work to support critical values.

A,

o (3.5t 12 sue)
o) b 1820 (-0.5t2 <7 cu8)

Xr-?dx-2=09



3. Find the zeros and-extremepoints of y=x*—3x>—4on x€[—1, 4] Show

the algebraic support.
_ (x uS (1)

\C—.z’éj% 8
(z\ )

4.  Find the-zerosand extreme points of y=x*-3x*—4onx€[-1, 4]
Show the algebraic work to support critical values.

dy _ U —bx = Zx (1\c~3>
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Sl The sign pattern for the derivative of H (x)is given. (a) Isx=—3ata
maximum, a minimum, or neither? Why? (b) Is x = 3/ 4 at a maximum, a
minimum, or neither? Why?

H’(.X) + o - 0 - 0 +

% -3 3/4 7
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6. Find the traits and sketch y =x*-3x2-4onx€ [-1,4] (24

Domain: \ £ [,\ \uq
Zeros: C‘z, )
End Behavior (left): o0 1S

End Behavior (right): 7%=

Range: bé[;ﬁs’l?,uq}
Y —Int: (OI *'-fO

Extreme Points: 55 ¢ + 4/




7. Find the traits and sketch of y = —2x3 + 0x2 +12x — 54.

Domain: Aot Peacs
Zeros: <& |
End Behavior (left): U7

End Behavior (right): Down

Range: Aoo K2e4Ls

Y—Int: @( ”6"(’)

Extreme Points:
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